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H: (%, y, 2)2>(x+2, ¥, 2); V: (X, ¥, 2)2>(X, y+3, 2); A:(X, y, 2)> (X, ¥, z+2)
H A
(a) BARBRLER (-1,2,0) ~ dbhofT2] £42£(3,8,10) ~ 1B B RHET 8y F K2
(b) BERBRALEZ (-1,2,0) - kbdofT 2] E4£(3,8,10) ~ FrA LIARAIZ L8 H B2
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=~ (20%)#4 3 B (Modular Arithmetic) = B2 #5 ¥ A HEE > T B4 F:nez anduez B
a=qn+r, 2 ¥ 0<r<n; g=laml, BAIEEF r A5 3 (residue), 7F & & = (amod n) ° n 8 B H
(modulus) » AR ZHH T > FTAREr FABRZELEE Z, -

a) K 9mod7: & Zx3? ‘ ' '

b) K& [(amodn)x (b mod n)] mod n=(a x b) mod n

c) AAMAb)ZME - K (123412 x45325) mod 9 ?

d) ARAw LR R LR CEE n TZ ok~ FER Zo R B {20, +, X} 2 F B — 1835 (Field) »
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= ~ (15%)Fibonacci ~ & Lucas & ®{EA L a3 3] » £ X K4 T:
(Fibonacci) Fp=1 » Fi=1 » B F,=F,.i+Fno
(Lucas) Lo=2 > L1=1 » B L;=L,+Lya
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a) KR F8 > 18+ F9 2 {&?

b) K# Vnez' » Lo=Fy1+Fou

W (15%) 2" B ERERBRZES S &g 57 R P ¥t xe z 0 fx)=x+1 2 g(x)=max{l,

x-1} > A
a) KRB S 2 Rk 22
b) & s F(composite) ¥+ Ko g () R > o) () AE?
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Fi=2

A&~ (15%)18.3% £& & (Undirected graph) @ G=(V, E)z #8846 . (Adjacent Matrix)4n F
V] V2 V3 V4 Vs

vilo 1 1 1 1
Va1 0 1 1 o
Vi1 o1 0 1 1
Va1l 1 1 0 1
Vs{1 0 1 1 0

R

a) 35 & A AR 48 1 T & T 2 B W (graph)?

b) K|V|, [E|, V 2 XA T8 Bk #(degree) Bp deg(Vi)?

c) KBl G k2 HEH K873 35 42 & & @ (Undirected graph) B » 2 4 =k $ 2 T6 25 8418
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~ (20%) £ 90000 48 Z.43r i £ #(10000 2] 99999) & » # —# 45 2k 6 21 E,uﬁmﬁ;%rp
w_t C AR BT 0 do 13531 ~ 82628 ~ B 34543 & - 3K9:

a) A5 Bk 4 B2 M Fu D R, By 4 ?

b) Ll =K, > AT K2 Fo B2




